
    503.232.1988 | grand-benedicts.com PAGE 1 of 

ASSEMBLY INSTRUCTIONS

2FT WALL :: 257-W-2



 W/LEVELER

1X. TOP RAIL B 24X. HEX BOLT 1/4"-20 X 0.625"

1X. LEFT UPRIGHT 1X. BOTTOM RAIL 1X. CENTER RAIL A 1X. CENTER RAIL B

1X. TOP RAIL A
1X. OPEN END WRENCH
FOR HEX BOLT 1/4-20 UNC

PART LIST:

1X. RIGHT UPRIGHT
 W/LEVELER

    503.232.1988 | grand-benedicts.com PAGE 2 of 

2FT WALL :: 257-W-2



    503.232.1988 | grand-benedicts.com

Orienting Uprights for Astoria Wall System

LEFT 
UPRIGHT

RIGHT 
UPRIGHT

VIEW OF OFFSET LIPS ON 
UPRIGHTS ALIGNED FROM THE TOP

WALL

Figure 2

LEFT
UPRIGHT

RIGHT
UPRIGHT

SCREW HOLE FOR ATTACHING LEVELER 
INDICATES BOTTOM

OF LEFT & RIGHT UPRIGHTS

Figure 1

DO NOT TIGHTEN BOLTS UNTIL YOU ARE 
100% SATISFIED WITH YOUR ASSEMBLY 
AND ALIGNED THE LEVELERS. 

START HERE

1. Identify the bottom of the 
Left and Right uprights by 
locating screw hole for 
attaching leveler. This 
indicates the bottom of these 
uprights. See Figure 1. 

2.  Configure your uprights so 
that the Offset Lips are 
closest to the wall. See 
Figure 2. 

NOTE: The Offset Lips are 
where your back panels will rest. 
If lip is not lined up correctly, 
your back panels won’t be able 
to slide in at installation. 

OFFSET 
UPRIGHT LIP

OFFSET 
UPRIGHT LIP

PAGE 3 of 7



STEP 1: COMPLETED FRAME

HEX BOLT 1/4"-20 X 0.625"

LEFT UPRIGHT

RIGHT UPRIGHT

TOP RAILS A&B

CENTER RAILS A&B

BOTTOM RAIL

PLEASE NOTE, 
BACK PANEL CHANNEL 
IS FACING UP

    503.232.1988 | grand-benedicts.com PAGE  of 

2FT WALL :: 257-W-2



STEP 2: MOUNT WALL CLEATS STEP 3: HANG WALL FRAMES

WALL CLEAT

BRACKET CONNECTS
MULTIPLE FRAMES

2 FT WALL FRAME

 

 4
7”

 
 4

5.
25

: 

    503.232.1988 | grand-benedicts.com PAGE  of 

2FT WALL :: 257-W-2

INSTALL CONNECTOR BRACKET 
AFTER INSERTING BACK PANELS

 

CUT THE CLEATS 
TO SIZE USING A CHOP SAW, 
HAND HACK SAW, OR GRINDER 
WITH AN ABRASIVE WHEEL. 

THE BOTTOM CLEAT IS RECOMMENDED
BUT NOT ABSOLUTELY NECESSARY IF 
YOU HAVE BASE MOLDING. 
 

THIS DISTANCE VARIES BASED 
ON THE CURVATURE OF THE FLOOR. 
SOMETIMES YOU MAY NEED TO CHOOSE A DISTANCE
2-3” OFF THE GROUND AND LEVEL WALL SYSTEMS
FROM THERE. 
 

USE LASER LEVEL
TO ALIGN THE CLEATS
 

 

HANG FRAMES 
AND APPLY FORCE 
TO LOCK THEM IN 
PLACE. THIS STEP 

IS CRUCIAL
TO ENSURE THE 

WALL IS SECURELY 
FASTENED.  



STEP 3: W/ OPTIONAL CROSS BRACES

CROSS BRACES

MOUNT CROSS BRACES WITH 
HEX BOLT 1/4"-20 X 0.75"

COMPLETED WALL

    503.232.1988 | grand-benedicts.com PAGE  of 

2FT WALL :: 257-W-2

CROSS-BRACES 
NEED TO BE 
MOUNTED TO 
THE INSIDE OF 
CHAMFERED 
CORNER



STEP 3: W/ OPTIONAL BACK PANELS

COMPLETED WALL

OPTIONAL BACK PANELS

TO INSTALL, SLIDE 
UP AND THEN DOWN 
INTO FRAME CORNERS

    503.232.1988 | grand-benedicts.com PAGE  of 

2FT WALL :: 257-W-2

Please note, due to a design limitation, cross-braces cannot be used in 
combination with back panels. This issue will be resolved in the next 
version. 


